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COMBINED ENGINEERING SUBORDINATE SERVICES IN EXAMINATION – 
27/05/2023 

 
1. Which of the following factors necessary for photosynthesis? 

a. Sunlight, Xanthophyll, Carbondioxide, Water  
b. Carbondioxide, Water, Sunlight, Heat 
c. Water, Carbon dioxide, Sunlight, Chlorophyll 
d. Sunlight, Sulphur dioxide, Water, Chlorophyll 
e. Answer not known 
fPo;fz;ltw;Ws; xspr;Nrh;f;iff;F Njitahd fhuzpfs;. 
a. #hpa xsp> rhe;Njhg;gpy;> fhh;gd;il Mf;irL> ePh; 
b. fhh;gd;il Mr;irL> ePh; #hpa xsp> ntg;gepiy 
c. ePh;> fhh;gd;il Mf;irL> #hpa xsp> gr;irak; 
d. #hpa xsp> fe;jf il Mr;irL> ePh;> gr;irak; 
e. tpil njhpatpy;iy 

  
2. The only block that contains all three types of elements in Periodic Table. 

a. s – block   b. p – block    c. d – block  
d. f – block    e. Answer not known 
jdpk thpir ml;ltizapy; %d;W tifahd jdpkq;fisAk; nfhz;Ls;s xNu 
njhFjp 
a. s - njhFjp  b. p - njhFjp   c. d - njhFjp 
d. f - njhFjp  e. tpil njhpatpy;iy 

 

3. If the pH of a solution is 4, Its ( )OH
−  ion concentration is  

a. 1×10-4M   b. 4 M    c. 10 M   

d. 1×10-4M   e. Answer not known 

xU fiurypd; pH kjpg;G vdpy;> mjd; ( )OH
−  madpapd; nrwpT 

a. 1×10-4M   b. 4 M    c. 10 M   

d. 1×10-4M    e. tpil njhpatpy;iy 
 

4. Match the following: 
Radio – Isotope   Treatment  

a. Radio Sodium –24, (Na24) 1. Skin diseases 
b. Radio Iodine –131, (I131)  2. Diagnose anaemia 
c. Radio – Iron –59, (Fe59)  3. Effective functioning of heart  
d. Radio Phosphorous –32, (P32) 4. Cure goiter 

A B C D 
a.  3 4 2 1 
b.  1 2 3 4 
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c.  4 3 2 1 
d.  4 2 3 1 
e.  Answer not known 
gpd;tUtdtw;iw nghUj;Jf. 
fjphpaf;f INrhNlhg;Gfs;   rpfpr;ir 
A. fjphpaf;fr; Nrhbak; - 24, (Na24)  1. Njhy; Neha; rpfpr;ir 
B. fjphpaf;f mNahbd; - 131, (I131)  2. uj;jNrhif milahsk; fhz 
C. fjphpaf;f ,Uk;G - 59, (Fe59)  3. ,jaj;ij rPuhf nray;gLj;j 
D. fjphpaf;fg; gh];gu]; - 32, (P32) 4. Kd; fOj;Jfoiy 

A B C D 
a.  3 4 2 1 
b.  1 2 3 4 
c.  4 3 2 1 
d.  4 2 3 1 
e. tpil njhpatpy;iy 

 
5. As per UNO, a child is a person who has not completed the age of ______ years. 

a. 12 years    b. 14 years    c. 15 years    
d. 18 years   e. Answer not known 
I.eh. rigapd; gb xU Foe;ij vd;gJ ve;j taij epiwT nra;jpUf;ff; $lhJ? 
a. 12 Mz;Lfs;  b. 14 Mz;Lfs;  c. 15 Mz;Lfs; 
d. 18 Mz;Lfs;  e. tpil njhpatpy;iy 

 
6. The Department of School Education has announced that the English language labs 

will be setup in 6029 

a. Primary Schools     b. Middle Schools   
c. High and Higher Secondary Schools  d. Colleges   
e. Answer not known 
Mq;fpy nkhopapay; Ma;tfq;fs; 6029 _________ fspy; mikf;fg;gLK; vd;W gs;sp    
fy;tpj; Jiw mwptpj;Js;sJ. 
a. Muk;gg; gs;sp    b. eLepiyg; gs;sp 
c. cah; kw;Wk; Nky;epiyg; gs;sp d. fy;Y}hp 
e. tpil njhpatpy;iy 

 
7. Assertion [A]: 1956, Midday Meal programme was introduced in schools. 

Reason [R]:  To avoid drop-outs in schools. 
a. [A] is True but [R] is false  
b. Both [A] and [R] are true; and [R] is the correct explanation of [A] 
c. [A] is false [R] is true 
d. Both [A] and [R] are true but [R] is not the correct explanation of [A] 
e. Answer not known 
$w;W (A): 1956k; Mz;L gs;spfspy; kjpa czTj; jpl;lk; mwpKfg;gLj;jg;gl;lJ. 
fhuzk; (R): gs;spfspy; ,ilepw;wiyj; jtph;f;f. 
a. (A) rhp (R) jtW 
b. (A) kw;Wk; (R) rhp (R)> (A) tpw;fhd rhpahd tpsf;fk; 
c. (A)jtW (R) rhp 
d. (A), (R) rhp> (R) (A) tpw;fhd rhpahd tpsf;fk; ,y;iy 
e. tpil njhpatpy;iy 

 
8. Tamil Nadu has a coastline of _________ km. 
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a. 656   b. 1076 c. 1254  d. 1300 e. Answer not known 
jkpo;ehL _________ fp.kP. flw;fiu gFjpiaf; nfhz;bUf;fpwJ. 
a. 656   b. 1076 c. 1254  d. 1300 e. tpil njhpatpy;iy 

 
9. Which pair of district and waterfall is not correctly paired? 

a. Dharmapuri -  Hogenakkal  
b. Namakkal   -  Agayagangai 
c. Theni   -  Kumbakkarai 
d. Coimbatore  -  Siruvani 
e. Answer not known 
gpd;tUtdtw;Ws; Fwpg;gplg;gLk; khtl;lk; kw;Wk; ePh;tPo;r;rpf;fhd ve;j ,iz rhpahfg; 
nghUj;jg;gltpy;iy? 
a. jh;kGhp  - xNfdf;fy; 
b. ehkf;fy;  - Mfah fq;if 
c. Njdp  - Fk;gf;fiu 
d. Nfhak;Gj;J}h; - rpWthzp 
e. tpil njhpatpy;iy 

 
10. ‘National Education Day’ is to commemorate the birth anniversary of  

a. Kamaraj   b. Rajendra Prasad   c. Vallabhai Patel  
d. Abul Kalam Azad  e. Answer not known 
ahUila gpwe;j ehs; Njrpa fy;tp ehshff; nfhz;lhlg;gLfpwJ? 
a. fhkuh[h;   b. uhN[e;jpu gpurhj;  c. ty;ygha; gNly; 
d. mGy;fyhk; Mrhj; e. tpil njhpatpy;iy 

 
11. Allan octavian Hume presided over the meeting of the theosophical society in Madras 

in the year 

a. December 1884  b. October 1885  c. November 1887 

d. March 1888  e. Answer not known 
Myd; Mf;Nltpad; `pA+k; ve;j Mz;L> nrd;idapy; gpuk;kQhd rigapd; 
$l;lnkhd;wpw;F jiyik jha;fpdhh; 
a. brk;gh; 1884  b. mf;Nlhgh; 1885  c. etk;gh; 1887 
d. khh;r; 1888  e. tpil njhpatpy;iy 

 
12. “Why I am Atheist” written by 

a. Aravindar   b. V.D. Savarkar  c. Kishan singh 

d. Bhagat singh  e. Answer not known 
“ehd; ehj;jpfd;> Vd;?” vOjpath; 
a. mutpe;jh;   b. V.D rhth;f;fh;   c. fp~d;rpq; 
d. gfj;rpq;   e. tpil njhpatpy;iy 

 
13. In 1976, Kamarajar was awarded with awarded with  

a. Tamil Chemmal   b. King Maker  c. Bharat Ratna 

d. Kalaimamani  e. Answer not known 
1976-,y; fhkuhrUf;F toq;fg;gl;l tpUjpd; ngah; vd;d? 
a. jkpo; nrk;ky;  c. fpq;Nkf;fh;   c. ghuj uj;dh 
d. fiykhkzp  e. tpil njhpatpy;iy 

 
14. Rabindranath Tagore renounced his knighthood immediately after the  

a. Chauri chaura incident    b. Mappillai revolt  
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c.  Jallianwala Bagh massacre   d. Calcutta riot 
e. Answer not known 
,utPe;jpuehj; jh$h; jdJ murg; gl;lj;ij Jwj;j epfo;r;rp 
a. nrshp nrsuh rk;gtk;   b. khg;sh fyfk; 
c. [hyped; thyhghf; gLnfhiy  d. fy;fj;jh fytuk; 
e. tpil njhpatpy;iy 

 
15. Even the God of Death will hesitate to do his duty when they come to these people. 

Who are they according to Valluvar? 

a. Uneducated   b. Wicked    c. One who never kills 

d. Defeated    e. Answer not known 
ahh; xUtUila capiu vkd; $l gwpf;fj; jaq;Fthd; vd;W ts;Sth; 
Fwpg;gpLfpd;whh;? 
a. fy;yhjtd;  b. nghy;yhjtd;  c. nfhy;yhjtd;  
d. nty;yhjtd;  e. tpil njhpatpy;iy 

 
16. Who becomes the ornaments of a well-knit family according to Valluvar? 

a. Good parents   b. Good children   c. Good friends 

d. Good relatives   e. Answer not known 
ey;y FLk;gj;jpw;F mzpfyd;fshf ts;Sth; ahiuf; Fwpg;gpLfpd;whh;? 
a. ey;y ngw;Nwhh;  b. ey;y Foe;ijfs;  c. ey;y ez;gh;fs; 
d. ey;y cwtpdh;fs; e. tpil njhpatpy;iy 

 
17. What according to Valluvar is the foster mother of “Grace”? 

a. Humility    b. Patience    c. Dignity  
d. Riches    e. Answer not known 
mUs; vd;Dk; Foe;ijf;F ts;Sth; vjidr; nrtpypj; jhahf xg;gpLfpwhh;? 
a. mlf;fk;   b. nghWik    c. fz;zpak; 
d. nry;tk;   e. tpil njhpatpy;iy 

 
18. What blessing will be upon men of clear vision and free of delusion according to 

Valluvar? 

a. Suffering    b. Passion    c. Bliss  

d. Excellence   e. Answer not known 
kaf;fk; njspe;j khrw;w fhl;rpAilatUf;F vJ fpl;Lk; vd;W ts;Sth; $wpfpwhh;? 
a. Jd;gk;   b. mth   c. ,d;gk; 
d. ngUik   e. tpil njhpatpy;iy 

 
19. ‘Nalayira Divyaprabandam’ was compiled by  

a. Nadamuni  b. Nammalvar  c. Sundarar  
d. Sekkilar    e. Answer not known 
‘ehyhapuj; jpt;agpuge;jj;ijj;’ njhFj;jth; 
a. ehjKdp    b. ek;kho;thh;   c. Re;juh; 
d. Nrf;fpohh;   e. tpil njhpatpy;iy 

 
20. Choose the correct answer: 

The Madras Native Association was founded in the year  
a. 1845 b. 1852 c. 1862  d. 1875 e. Answer not known 
rupahd tpiliaj; Njh;T nra;f: 
nrd;idthrpfs; rq;fk;> njd;dpe;jpahtpy; njhlq;fg;gl;l Mz;L 
a. 1845 b. 1852 c. 1862  d. 1875 e. tpil njhpatpy;iy 
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21. Which of the following magazine is not associated with Periyar E.V.R? 

a. Kudi Arasu   b. Puratchi    c. Desabakthan  

d. Revolt   e. Answer not known 
nghpahh; <.nt.uhTld; njhlh;G ,y;yhj ,jo; ________ MFk;. 
a. FbmuR    b. Gul;rp  c. Njrgf;jd;  
d. hpNthy;l;   e. tpil njhpatpy;iy  

 
22. To which flower does Valluvar compare the difference in hospitality of guests? 

a. Kuvalai flower   b. Anicham flower   c. Lily  
d. Lotus   e. Answer not known 
tpUe;jpdhpd; Kfj;ij ve;j kyNuhL ts;Sth; xg;gpLfpwhh;? 
a. Ftis kyh;  b. mdpr;r kyh;  c. my;yp kyh; 
d. jhkiu kyh;  e. tpil njhpatpy;iy 

 
23. Choose the right matches among tyoe: 

1. Father of Capitalism  – Alfred Marshall 
2. Father of Socialism  - Karl Marx 
3. Author of Welfare  – Adam Smith  
4. Author of Scarcity  – Lionel Robbins 
a. 1 and 3 are correct b. 1 and 2 are correct  c. 2 and 3 are correct  
d. 2 and 4 are correct  e. Answer not known 
rhpahd nghUj;Jk; tiffis fz;Lgpb 
1. Kjyhspj;Jtj;jpd; je;ij  - My;/gpul; khh;~y; 
2. rkj;Jtj;jpd; je;ij   - fhh;y; khh;f;]; 
3. ey ,yf;fzj;jpd; Mrphpah;  - Mlk;];kpj; 
4. gw;whf;Fiw     - ,yad]; ,uhgpd;]; 
a. 1 kw;Wk; 3 rhp  b. 1 kw;Wk; 2 rhp  c. 2 kw;Wk; 3 rhp 
d. 2 kw;Wk; 4 rhp  e. tpil njhpatpy;iy 

 
24. Choose the right answer: 

The North-East monsoon period in Tamil Nadu  
a. August – October b. September – November   c. October – December  

d. November – March e. Answer not known 
rupahd tpiliaj; Njh;e;njLj;jy; 
jkpo;ehl;by; tlfpof;Fg; gUt kio nghopAk; khjq;fs; 
a. Mf];L - mf;Nlhgh; b. nrg;lk;gh; - etk;gh; c. mf;Nlhgh; - brk;gh; 
d. etk;gh; - khh;r;  e. tpil njhpatpy;iy 

 
25. The first software company in India. 

a. Cognizant  b. L and T   c. TATA consultancy 

d. Infotech  e. Answer not known 
,e;jpahtpd; Kjy; nkd;nghUs; njhopyfk; 
a. fhf;dpird;l;  b. vy; mz;l; b  c. lhlh fd;ry;ld;rp 
d. ,d;Nghnlf;  e. tpil njhpatpy;iy 

 
26. The __________ ocean is the youngest ocean  

a. Indian   b. Southern    c. Arctic   
d. Atlantic  e. Answer not known 
,isa ,gUq;fly; vdg;gLk; ngUq;fly; 
a. ,e;jpag; ngUq;fly;  c. njd; ngUq;fly; 
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c. Mh;bf; ngUq;fly;  d. ml;yhz;bf; ngUq;fly; 
e. tpil njhpatpy;iy 

 
27. When was Ayushman Bharat Digital Mission (ABDM) launched? 

a. September 2021  b. September 2022  c. August 2021 

d. August 2022  e. Answer not known 
MA~;khd; ghuj; b[pl;ly; kp~d; (ABDM) vg;NghJ njhlq;fg;gl;lJ? 
a. nrg;lk;gh; 2021  b. nrg;lk;gh; 2022  c. Mf];l; 2021 
d. Mf];l; 2022  e. tpil njhpatpy;iy 

 
28. Choose the correct statement on National Deworming day 

I. National Deworming day was implemented in 2015 

II. Applicable to children (1 – 19) age  
III. Gujarat and Rajasthan it is implemented annually  
a. I only   b. II only    c. I and II only   

d. III only   e. Answer not known 
Njrpa Flw;GO ePf;f ehs; gw;wpa rhpahdtw;iw Njh;e;njLf;fTk;  
I. Njrpa Flw;GO ePf;f jpdk; 2015-,y; mky;gLj;jg;gl;lJ. 
II. (1-19) taJf;F cl;gl;l Foe;ijfSf;F nghUe;Jk; 
III. ,J F[uhj; kw;Wk; uh[];jhdpy; Mz;Lf;F xU Kiw nray;gLj;jg;gLfpwj. 
a. I kl;Lk;    b. II kl;Lk;   c. I kw;Wk; II kl;Lk; 
d. III kl;Lk;   e. tpil njhpatpy;iy 

 
29. For a political party to be recognised as a National Party, it has to receive what 

percentage of valid votes cast in any four or more states in the last general election to 
the Loksabha? 

a. 2%  b. 4%  c. 6%  d. 8%  e. Answer not known 
 xU fl;rp Njrpaf; fl;rpahf mq;fPfhpf;fg;gl Ntz;Lkhdhy;> rkPgj;jpa Nyhf;rgh nghJj; 
 Njh;jypy;> ehd;F my;yJ mjw;F Nkw;gl;l khepyq;fspy;; nrYj;jg;gl;l nkhj;jr; 
 nry;YgbahFk; thf;Ffspy; vj;jid rjtPjk; ngw;wpUf;f Ntz;Lk;? 

a. 2%  b. 4%  c. 6%  d. 8%  e. tpil njhpatpy;iy 
 

30. ISRO executed this mission in October 2022. The vehicle launched in the mission was  
a. LVM – 1   b. LVM – 2   c. LVM – 3   
d. GSLV – 12  e. Answer not known 
2022 Mk; Mz;L mf;Nlhgh; khjk; ISRO ,j;jpl;lj;ij nray;gLj;jpaJ. Vtg;gl;l 
fyj;jpd; ngah;> 
a. LVM – 1   b. LVM – 2   c. LVM – 3   
d. GSLV – 12  e. tpil njhpatpy;iy 

 
31. Which state is not the beneficiary of Sardar Sarover Project? 

a. Madhya Pradesh  b. Maharashtra  c. Punjab 

d. Rajasthan    e. Answer not known 
vJ rh;jhh; rNuhth; jpl;lj;jpypUe;J gadilAk; khepyk; my;y? 
a. kj;jpag; gpuNjrk;  b. kfhuh~;buh  c. gQ;rhg; 
d. ,uh[];jhd;  e. tpil njhpatpy;iy 

 
32. Which is the longest, the west flowing rivers of India? 

a. Tapti  b. Narmada   c. Mahanadi 
d. Ganga  e. Answer not known 
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,e;jpahtpy; Nkw;F Nehf;fp ghAk; MWfspy; ePskhd MW vJ? 
a. jgjp  b. eh;kij   c. kfhejp 
d. fq;if  e. tpil njhpatpy;iy 

 
33. Which is the first communication satellite in INSAT series? 

a. EDUSAT  b. INSAT 1B   c. GSAT 

d. HAMSAT  e. Answer not known 
jfty; njhlh;gpw;fhf Vtg;gl;l Kjy; ,d;rhl; thpir nraw;iff;Nfhs; vJ?  
a. v[Prhl;  b. ,d;rhl; - 1B  c. [prhl; 
d. `hk;rhl;  e. tpil njhpatpy;iy 

 
34. Harappa was first visited by __________ in 1826 CE (AD) 

a. Amri   b. Charles Mason   c. Alexander Burnes 

d. Sir John Marshal  e. Answer not knows 
`ug;ghtpw;F Kjd;Kjypy; ngh.M. 1826-,y; tUif je;jth; 
a. mk;hp   b. rhh;y]; Nkrd;  c. mnyf;]hz;lh;  
e. tpil njhpatpy;iy 

 
35. ________ gives a vivid account of Karikalan reign. 

a. Maduraikanchi   b. Pattinappalai  c. Patitruppathu 

d. Paripadal    e. Answer not known 
________ fhpfhyDila Ml;rpapd; rpwg;G gw;wp thpthf $WfpwJ. 
a. kJiuf;fhQ;rp  b. gl;bdg;ghiy  c. gjpw;Wg;gj;J 
d. ghpghly;   e. tpil njhpatpy;iy 

 
36. Choose the right matches among the type.  

1. Mahabharath -   Valmiki 
2. Umaruppulavar -   Seerapuranam 

3. Veeramamunivar -   Thembavani 
4. Manimegalai -   Ilango Adigal  
a. (2) and (3) are correct   b. (1) and (3) are correct 
c. (3) and (4) are correct   d. (2) and (1) are correct 
e. Answer not known 
rhpahd nghUj;jq;fis Njh;e;njLf;fTk;. 
1. kfhghujk;  - thy;kPfp 
2. ckWGyth; - rPwhg;Guhzk;  
3. tPukhKdpth; - Njk;ghtzp 
4. kzpNkfiy - ,sq;Nfh mbfs; 
a. (2) kw;Wk; (3) rhp  b. (1) kw;Wk; (3) rhp  c. (3) kw;Wk; (4) rhp 
d. (2) kw;Wk; (4) rhp  e. tpil njhpatpy;iy  

 
37. Find the odd one out  

a. Right to freedom     b. Right to Religion   

c. Right to constitutional Remedies  d. Right to property 

e. Answer not known 
khWgl;l xd;iwf; fz;Lgpb 
a. Rje;jpu chpik      b. rkar;rhh;G chpik 
c. murpayikg;Gf;Fl;gl;L jPh;T fhZk; chpik  d. nrhj;Jhpik  
e. tpil njhpatpy;iy 

 
38. How can the Fundamental Right be suspended? 
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a. If the Supreme Court so desires 

b. If the Prime Minister orders to this effect 
c. If the President orders it during the National Emergency 
d. All of the above  
e. Answer not known 
mbg;gil chpikfis vg;NghJ epWj;jpitf;fg;gl;l KbAk;? 
a. cr;rePjp kd;wk; tpUk;gpdhy;    
b. gpujk ke;jphpapd; Mizapdhy; 
c. Njrpa mtruepiyfspd; NghJ FbauRj; jiythpd; Mizapdhy; 
d. Nkw;fz;l midj;Jk; 
e. tpil njhpatpy;iy 

 
39. Choose the correct statements: 

I. Raja mannar commission on centre-state relation was established by the Tamil Nadu 
Govt in 1983  
II. The Seventh schedule of the constitution contains the three lists relating to the 
distribution of powers between the centre and state.  
III. The Centre-State relations revolve around the fulcrum of distribution of powers 
between Centre and State 
IV. The powers are distributed between the Union and State governments territorially. 
a. (I), (II) and (III)  b. (I), (III) and (IV)  c. (II), (III) and (IV) 
d. (I), (IV) and (III)  e. Answer not known 
rhpahd Fwpg;Gfis Fwpg;gpLf: 
I. jkpo;ehL muR 1983-k; Mz;L uh[hkd;dhh; jiyikapy; kj;jpa khepy cwTfis 
Ma;T nra;a FO mikj;jJ. 
II. murikg;gpd; VohtJ ml;ltiz %d;W gl;bay;fis cUthf;fp mjpfhug; gfph;it 
kj;jpa khepy murhq;fq;fSf;F toq;Ffpd;wd. 
III. mjpfhug; gfph;T kj;jpa khepy cwTfspd; mr;rhzpahf cs;sJ. 
IV. kj;jpa murhq;fj;jpd; mjpfhuk; Njrj;jpd; vy;iy KOtJk; fhzg;gLfpd;wJ. 
a. (I), (II) kw;Wk; (III)  b. (I), (III) kw;Wk; (IV)  c. (II), (III) kw;Wk; (IV) 
d. (I), (IV) kw;Wk; (III) e. tpil njhpatpy;iy  

 
40. When 240 is decreased by 15%, what will you get? 

a. 276  b. 204  c. 200  d. 36  e. Answer not known 
240 vd;w vz; 15% Fiwf;fg;gl;lhy; vd;d fpilf;Fk;? 
a. 276  b. 204  c. 200  d. 36  e. tpil njhpatpy;iy 

 
41. 4% of 400 – 2% of 800=? 

a. -4   b. 0  c. 2  d. 16  e. Answer not known 
,d; 4% – 800 ,d; 2% =? 
a. -4   b. 0  c. 2  d. 16  e. tpil njhpatpy;iy 

 
42. A man has 532 flower pots. He wants to arrange them in rows such that each row 

contains 21 flower pots. Find the number of completed rows? 

a. 32  b. 25  c. 21  d. 7  e. Answer not known 
xU eghplk; 532 G+e;njhl;bfs; cs;sd. mth; thpirf;F 21 G+e;njhl;bfs; tPjk; mLf;f  
tpUk;gpdhy; vj;jid KOikngWk; vdf; fhz;f. 
a. 32  b. 25  c. 21  d. 7  e. tpil njhpatpy;iy 

 
43. LCM is not always ____________ the largest of the given numbers. 
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a. greater than  b. equal to   c. multiple of  
d. smaller than   e. Answer not known 
kP.rp.k. MdJ vg;NghOJk; nfhLf;fg;gl;l vz;fspy; nghpa vz;iz tpl ___________ 
,Uf;fhJ 
a. nghpajhf   b. rkkhf    c. klq;fhf 
d. Fiwthf   e. tpil njhpatpy;iy 

 
44. If A : B = 7 : 13, and B : C = 65 : 25 find the ratio of A : B : C is  

a. 7 : 13 : 25   b. 7 : 13 : 5   c. 7 : 65 : 25  

d. 7 : 5 : 25   e. Answer not known 
A : B = 7 : 13 kw;Wk; B : C = 65 : 25 vdpy; A : B : C 
a. 7 : 13 : 25   b. 7 : 13 : 5   c. 7 : 65 : 25  

d. 7 : 5 : 25   e. tpil njhpatpy;iy 
 

45. The ratio of 20 miles to 25km is  
a. 4 : 5   b. 6 : 5    c. 32 : 25   

d. 33 : 50   e. Answer not known 
20 iky;fSf;Fk; 25 fp.kP f;Fk; Md tpfpjk; 
a. 4 : 5   b. 6 : 5    c. 32 : 25   

d. 33 : 50   e. tpil njhpatpy;iy 
 

46. In what time will Rs. 2,000 amount to Rs. 2,420 at 10% per annum compound interest? 

a. 4 years   b. 3 years    c. 2 years   

d. 1 years    e. Answer not known 
vj;jid Mz;Lfspy; &.2>000 f;F 10% $l;L tl;b tPjj;jpy; fpilf;Fk; njhif &.2>420  
MFk;? 
a. 4 Mz;Lfs;  b. 3 Mz;Lfs;  c. 2 Mz;Lfs;  
e. tpil njhpatpy;iy 

 
47. What is compound Interest on Rs. 5,000 at 12% per annum for 2 years compounded 

annually? 

a. Rs. 1,227  b. Rs. 1,272   c. Rs. 2,172 

d. Rs. 2,721  e. Answer not known 
&.5>000f;F 12% Mz;L tl;bapy; 2 Mz;LfSf;F> Mz;Lf;nfhU Kiw tl;bf;   

  fzf;fplg;gl;lhy; fpilf;Fk; $l;L tl;bahdJ vt;tsT? 
e. tpil njhpatpy;iy 

 
48. A mat of length 80 m is made by 6 men in 15 days. How long will it take for 16 men to 

make a mat of length 256 m? 

a. 14   b. 16  c. 18   d. 20  e. Answer not known 
80 kP ePsKs;s xU ghapia 6 Mz;fs; 15 ehs;fspy; nra;jdh;. 256 kP ePsKs;s xU 

 ghapid 16 Mz;Lfs; nra;a vj;ji ehs;fs; MFk;? 
a. 14   b. 16  c. 18   d. 20  e. tpil njhpatpy;iy 

 
49. P alone can do a piece of work in 6 days and Q alone in 8 days. P and Q undertook the 

work for Rs. 4,800. With the help of R, they completed the work in 3 days. How much 
is R’s share? 

a. Rs. 580  b. Rs. 585   c. Rs. 590  

d. Rs. 600  e. Answer not known 
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P vd;gth; jdpNa xU Ntiyia 6 ehs;fspYk; Q vd;gth; jdpNa mNj Ntiyia 8 
ehs;fspYk; Kbg;gh;. P kw;Wk; Q mfpNahh; ,e;j Ntiyia &. 4>800-f;F xg;Gf; 
nfhz;ldh;. R vd;gthpd; cjtpAls; > mth;fs; me;j Ntiyia 3 ehs;fspy; Kbj;jdh;> 
vdpy;> njhifapy; R-d; gq;F vt;tsT?  
a. &. 580   b. &. 585   c. &. 590  

d. &. 600   e. tpil njhpatpy;iy 
 

50. In the given Pie-chart A, B, C, D, E and F – represents schools in a town. If the total 
number of students are 16, 000, then the ratio of 2 schools which is equal to the B : D is  

 
  a. F and C   b. C and F    c. F and D  

d. D and F    e. Answer not known 
nfhLf;fg;gl;l ig-tiuglj;jpy; kw;Wk; vd;gd xU efhpy; cs;s gs;spfis Fwpf;Fk;. 

 mg;gspfis Fwpf;Fk;. mg;gs;spfspy; cs;s> nkhj;j khzth;fspd; vz;zpf;if 16>000> 
 vdpy;> tpfpjj;jpw;F rkkhd tpfpjk; nfhz;l ,U gs;spfs; ________ MFk;.  

 
 a. F kw;Wk; C   b. C kw;Wk; F    c. F kw;Wk; D  
 d. D kw;Wk; F    e. tpil njhpatpy;iy 

 
51. The atmospheric carbon dioxide enters into the plants through the process of  

a. Photosynthesis  b. Assimilation   c. Respiration  
d. Decomposition   e. Answer not known 

tspkz;ly fhh;gd; il Mf;i]L (CO2) jhtuq;fSf;Fs; cl;nry;Yk; epfo;T 
________ vdg;gLk;. 
e. tpil njhpatpy;iy 

 
52. Which of the following is incorrectly paired? 

1. NCPCR – National Cooperation for Protection of Child Rights 

2. NIDDM – Non – Insulin Dependent Diabetes Mellites  
3. ELISA – Enzyme Linked Insulin Sorbent Assay 

4. NACO – National AIDS Control Organisation 

a. 2 and 3    b. 1 and 4     c. 1 and 3   
d. 2 and 4   e. Answer not known 
fPNo nfhLf;fg;gl;Ls;sitfspy; vit rhpahf nghUe;jhj ,iz. 
1. NCPCR – Foe;ijfs; $l;LwT ghJfhg;gpw;fhd Njrpa Mizak; 
2. NIDDM – ,d;Rypd; rhuhj ePhpopT Neha; 
3. ELISA – nehjp rhh;e;j ,d;Rypd; cwpQ;Rif kjpg;gPL 
4. NACO – Njrpa va;l;]; fl;Lg;ghl;L mikg;G  

a. 2 kw;Wk; 3  b. 1 kw;Wk; 4   c. 1 kw;Wk; 3 
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d. 2 kw;Wk; 4  e. tpil njhpatpy;iy 
 

53. Assertion [A] : Gymnosperms are naked seed plant. 
Reason [R] : The ovules are enclosed by Ovary in Gymnospermic plants. 
a. Both [A] and [R] are True b. Both [A] and [R] are False 

c. [A] is False, [R] is True  d. [A] is true but [R] is False 

e. Answer not known  
$w;W (A): [pk;Ndh];ngh;k; jpwe;j tpijj; jhtuq;fs; MFk;. 
fhuzk; (R): [pk;Ndh];ngh;k; jhtuq;fspy; #yhdJ #w;igahy; #og;gl;bUf;Fk;. 
a. $w;W (A) kw;Wk; fhuzk; (R) ,uz;Lk; rhpahdit 
b. $w;W (A) kw;Wk; fhuzk; (R) ,uz;Lk; jtwhdit 
c. $w;W (A) jtW> fhuzk; (R) rhp 
d. $w;W (A) rhp> Mdhy; fhuzk; (R) jtW 
e. tpil njhpatpy;iy 
 

54. The Metal/Metals which excel in the conduction of heat and electricity. 
a. Copper and Tungsten   b. Copper and Silver  
c. Silver and Tungsten   d. Copper alone  
e. Answer not known 
ntg;gj;ijAk;> kpdrhuj;ijAk; vspjpy; flj;Jk; cNyhfk;/cNyhfq;fs; 
a. jhkpuk; kw;Wk; lq;];ld;  b. jhkpuk; kw;Wk; nts;sp 
c. nts;sp kw;Wk; lq;;];ld;  d. jhkpuk; kl;Lk; 
e. tpil njhpatpy;iy 

 
55. Who proposed the geocentric model of the universe?  

a. Tycho Brahe   b. Nicolaus Copernicus   c. Ptolemy  
d. Archimedes   e. Answer not known 
mz;lj;jpd; Gtpika khjphpf; nfhs;ifia Kd;nkhope;jth; ahh;? 
a. ilf;Nfh gpuhN` b. epNfhy]; Nfhgh;epf;f];  c. jhykp 
d. Mh;f;fpkpb];  e. tpil njhpatpy;iy 

 
56. Repetitive to and fro motion of an object at regular interval of time about a point is  

a. Linear motion   b. Circular motion   c. Oscillatory motion 

d. Random motion  e. Answer not known 
xU Gs;spia ikakhff; nfhz;L Kiwahd fhy ,ilntspapy; kPz;Lk; kPz;Lk; 
Kd;Dk; gpd;Dkhf ,aq;Fk; nghUspd; ,af;fk; vd;gJ. 
a. Neuhd ,af;fk;  b. tl;l ,af;fk;  c. miyT ,af;fk; 
d. xOq;fw;w ,af;fk; e. tpil njhpatpy;iy 

 
57. Choose the correct answer about Muthulakshmi Ammaiyar. 

a. Doctor    b. Engineer    c. Teacher   
d. Advocate    e. Answer not known 
Kj;Jyl;Rkp mk;ikahh; gw;wpa rhpahd gjpiy Njh;e;njLf;fTk;. 
a. kUj;Jth;   b. nghwpahsh;   c. Mrphpah; 
d. tof;fwpQh;  e. tpil njhpatpy;iy 

 
58. Who defines Human Right as, “The right inherent to all human beings, regardless of 

race, gender, nationality, ethnicity, language, religion or any other status. Everyone is 
entitled to these rights without discrimination”? 

a. WHO   b. UNO    c. UNESCO   
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d. UNDP   e. Answer not known 
“,dk;> ghypdk;> Njrpa> ,df;FO> nkhop kjk; my;yJ NtW jFjp mbg;giliag; 
nghUj;J khWglhky; kdpjh;fshfg; gpwf;Fk; midtUf;Fk; kughf ,Uf;Fk; chpikNa 
kdpj MFk;” vd $wpaJ? 
a. WHO   b. UNO    c. UNESCO   
d. UNDP   e. tpil njhpatpy;iy 

 
59. Choose the correct answer: 

Education in the British rule can be divided into four periods as follow 

1. Early days to 1813 

2. 1813 – 1853 

3. 1854 – 1920 

4. 1921 – 1947 

a. Both 1 and 2   b. Both 1 and 3   c. Both 2 and 4  
d. 1, 2, 3 and 4   e. Answer not known 
rhpahd gjpy;fisj; Njh;e;njLf;fTk;. 
gphpl;b~; Ml;rpapy; fy;tp fPo;fz;lthW ehd;F fhyfl;lq;fshf gphpf;fg;gl;lJ. 
1. Ml;rpapd; Muk;g fhyj;jpypUe;J 1813 tiu 
2. 1813 Kjy; 1853 tiu 
3. 1854 Kjy; 1920 tiu 
4. 1921 Kjy; 1947 tiu 
a. 1 kw;Wk; 2 ,uz;Lk; b. 1 kw;Wk; 3 ,uz;Lk;   c. 2 kw;Wk; 4 ,uz;Lk; 
d. 1> 2> 3 kw;Wk; 4  e. tpil njhpatpy;iy 

 
60. When was Chief Minister’s comprehensive Health Insurance Scheme launched? 

a. 9th January 2009   b. 10th January 2009   c. 9th December 2012 

d. 11th January 2012  e. Answer not known 
Kjyikr;rhpd; tphpthd kUj;Jtff; fhg;gPl;Lj; jpl;lk; vg;NghJ njhlq;fg;gl;lJ? 
a. 9 [dthp 2009  b. 10 [dthp 2009  c. 9 brk;gh; 2012 
d. 11 [dthp 2012  e. tpil njhpatpy;iy 

 
61. State the following statement are True (or) False. 

1. Allan octavian Hume was the founder of the Indian National Movement 
2. Gopala Krishna Gokhale was the founder of Indian Association agitation for political 
reforms 
3. Swadesi Movement started in India during Anti-Bengal partition agitation 

a. (1), (2) is wrong (3) is correct  b. (2), (3) is wrong (1) is correct  
c. (1), (2) is correct (3) is wrong  d. All these above correct 
e. Answer not known 
gpd;tUk; $w;Wfspy; cz;ik kw;Wk; jtiw Fwpg;gplTk;. 
1. ,e;jpa Njrpa fhq;fpui] epWtpath; Myd; Mf;Nltpad; `pA+k; Mthh; 
2. NfhghyfpU~;z NfhfNy murpay; rPh;jpUj;jpq;fSf;F vjpuhf ,e;jpar; rq;fj;ij 
epWtpdhh; 
3. tq;fhsg; gphptpidf;F vjpuhd Nghuhl;lj;jpd;NghJ ,e;jpahtpy; RNjrp ,af;fk; 
Njhd;wpaJ 
a. (1) kw;Wk; (2) jtW (3) rhp  b. (2) kw;Wk; (3) jtW (1) 
c. (1) kw;Wk; (2) rhp (3) jtW  d. Nkw;Fwpg;gpl;l midj;Jk; rhp 
e. tpil njhpatpy;iy 

 
62. Choose the correct statement form the following  

1. Periyar had participated in the non-cooperation programme as a congressman. 
2. The Justice party held the self-respecting wedding  
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3. Periyar title was conferred by UNESCO 

4. He ran the ‘Liberation’ press in English 

a. 1 is correct   b. 2 and 4 are correct  c. 1 and 2 are correct 
d. 2,3,4 are correct   e. Answer not known 
gpd;tUtdtw;Ws; rhpahd $w;iwj; Njh;e;njL 
1. nghpahh; ,e;jpa Njrpa fhq;fpu]pd; cWg;gpduhf xj;Jioahik ,af;fj;jpy; fye;J 
nfhz;lhh; 
2. Rakhpahijj; jpUkzj;ij ePjpf;fl;rp mwpKfg;gLj;jpaJ 
3. nghpahh; gl;lj;ij toq;fpaJ UNESCO mikg;G 
4. tpLjiy gj;jpupf;ifia Mq;fpyj;jpy; elj;jpdhh; 
a. 1 kl;Lk; rhp  b. 2 kw;Wk; 4 rhp  c. 1 kw;Wk; 2 rhp 
d. 2> 3> 4 rhp  e. tpil njhpatpy;iy 

 
63. Match the following  

A. Kattabomman   1. Col. Bon Jour 

B. Maruthu Brothers  2. Captain Campbell 
C. Yusuf Khan   3. Colin Macaulay 

D. Muthu Vadugar  4. Bannerman 

A  B C D 
a.  2 3 1 4 
b.  3 2 1 4 
c.  2 4 1 3 
d.  4 3 2 1 
e.  Answer not known 
nghUj;Jf 
A. fl;lnghk;kd;  1. fh;dy; ghd; N[hh; 
B. kUJ rNfhjuh;fs; 2. Nfg;ld; Nfk;g;ngy; 
C. A+Rg;fhd;   3. fhypd; nkf;fhNy 
D. Kj;JtLfh;  4. ghndh;nkd; 

A  B C D 
a.  2 3 1 4 
b.  3 2 1 4 
c.  2 4 1 3 
d.  4 3 2 1 
e. tpil njhpatpy;iy 

 
64. Who will be respected by all life on this earth according to Valluvar? 

a. Men of wisdom   

b. Men of virtue  
c. Men who would not kill and hurt any species for their food 
d. Men of riches 

e. Answer not known 
cyf caph;fs; vy;yhk; ahiuf; if$g;gp tzq;Fk;? 
a. fy;tp mwptpay; rpwe;j rhd;Nwhiu 
b. xOf;fj;jpy; rpwe;j kdpjiu 
c. caph;fisf; nfhy;yhj Gyhy; cz;zhj khe;jiu 
d. nry;tj;jpy; jpisf;Fk; kdpjiu 
e. tpil njhpatpy;iy 

 
65. Who according to Valluvar will not be pained by the pangs of hunger?  
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a. People who do penance  b. People who are graceful 
c. Renowned people   d. People who share food with others 

e. Answer not known 
grpnad;Dk; nfhba Neha; ahiu mZFtjpy;iy vd;W ts;Sth; Fwpg;gpLfpd;whh;? 
a. jtKilNahiu   b. mUSilNahiu  c. GfOilNahiu 
d. gfph;e;J cz;ZNthiu  e. tpil njhpatpy;iy 

 
66. Choose the correct statement  

i. Hero stones of the Sangam age can be found at Propanaikottai in Pudukkotai 
district. 

ii. Arikkamedu is a Sangam Age Port  
iii. The Indian Treasure Trove Act was passed in 1878 

iv. Roman coins are concentrated in the Thirunelveli regions 

a. (i), (ii) and (iv) are correct   b. (i), (ii) and (iii) are correct  

c. (ii), (iii) are correct    d. (ii) and (iv) are correct 
e. Answer not known 
rhpahd $w;iw Njh;e;njLf;fTk;: 
i. GJf;Nfhl;il khtl;lj;jpd; nghw;gidf;Nfhl;il vd;w ,lj;jpy; rq;ffhy eLfw;fs;  
fhzg;gLfpd;wd. 
ii. mhpf;fNkL vd;w ,lk; rq;f fhyj; JiwKfg;gl;bdk; MFk;. 
iii. ,e;jpa fUT+yk; kw;Wk; Gijay; rl;lk; 1878 ,y; tFf;fg;gl;Ls;sJ 
iv. Nuhkhdpa ehzaq;fs; njd;dpe;jpahtpy; jpUney;Ntyp kz;lyq;fspy; nrwpe;J  
fhzg;gLfpwJ 
a. (i), (ii) kw;Wk; (iv) rhp     b. (i), (ii) kw;Wk;  (iii) rhp 
c. (ii), (iii) rhp       d. (ii) kw;Wk;  (iv) rhp 
e. tpil njhpatpy;iy 

 
67. Who declared that “Land belongs to God” and collection rent or tax on it was against 

divine law? 

a. Shariatullah  b. Dudu Mian   c. Titumir 

d. Noah Mian   e. Answer not known 
“epyk; flTSf;Fr; nrhe;jk;” vd;W mwptpj;jJld; epyj;jpd; kPJ thptpjpg;Ngh thlif  
t#ypg;gNjh ,iwr; rl;lj;jpw;F vjpuhdJ vd;W $wpath; ahh;? 
a. ~hpaj;Jy;yh  b. LL kpahd;   c. bL kPh; 
d. Nehth kpahd;  e. tpil njhpatpy;iy 

 
68. Who ran clandestine radio operations at Bombay during the Quit India movement? 

a. Usha Mehta  b. Preeti Waddadar  c. Aruna Asaf Ali 
d. Captain Lakshmi  e. Answer not known 
nts;isaNd ntspNaW ,af;fj;jpd; NghJ gk;ghapy; ,ufrpa thndhyp epiyaj;ij 
elj;jpath; ahh;? 
a. c~h Nkj;jh  b. gphPj;jp tNjjhh;  c. mUzh Mrg; myp 
d. Nfg;ld; yl;Rkp  e. tpil njhpatpy;iy 

 
69. Assertion [A]: Rettaimalai Srinivasan was honoured with such titles as Rao Sahib, Rao 

Bahadur, and Divan Bahadur for his selfless social services. 
Reason [R]: He fought for social justice, equality and civil Rights of the marginalised  
people 

a. [A] and [R] are correct, but R is not the correct explanation of [A] 
b. [A] and [R] are correct, R is the correct explanation of [A] 
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c. [A] is wrong; [R] is correct 
d. Both [A] and [R] are wrong 

e. Answer not known 
$w;W (A): ,ul;ilkiy rPdpthrdpd; jd;dykw;w Nritf;fhf uht;rhfpg;> uht; gfJ}h;> 
jpthd; gfJ}h; Mfpa gl;lq;fshy; rpwg;Gr; nra;ag;gl;lhh;. 
fhuzk; (R): ,th; xLf;fg;gl;l kf;fspd; r%f ePjp> rkj;Jtk; kw;Wk; r%f chpikfs; 
Mfpatw;Wf;fhfg; Nghuhbdhh;. 
a. $w;Wk; fhuzKk; rhp; fhuzk; $w;wpd; rhpahd tpsf;fky;y 
b. $w;Wk; fhuzKk; rhp; fhuzk; $w;wpd; rhpahd tpsf;fk; MFk; 
c. $w;W jtW; fhuzk; rhp 
d. $w;Wk; jtW; fhuzKk; jtW 
e. tpil njhpatpy;iy 

 
70. Who is the chairman of 15th Finance Commission? 

a. Y.V. Reddy  b. K.C. Pant   c. N.K. Singh  

d. K.C. Neogy   e. Answer not known 
15MtJ epjpf; FOtpd; jiyth; ahh;? 
a. Y.V. nul;b   b. K.C. ge;j;   c. N. K. rpq; 
d. K.C. epNahfp  e. tpil njhpatpy;iy 

 
71. Which among the following are not the source of Union Government? 

a. Capitation tax    
b. Foreign loans    
c. Corporation tax 

d. Taxes on income other than agricultural income  
e. Answer not known 
fPo;f;fz;ltw;Ws; kj;jpa murpd; gz gq;fspg;G mspf;fhj tsq;fs; 
a. jiyf;fl;L thp   b. may;ehl;Lf; fld;fs; 
c. khefu thp   d. tUkhd thp (Ntshz; tUtha; jtph;j;J) 
e. tpil njhpatpy;iy 

 
72. Match the following type: 

a. Integrated Rural Development Programme (IRDP)    1. 1983 

b. Training Rural Youths for Self Employment (TRYSEM)  2. 1980 

c. National Rural Employment Programme (NREP)   3. 1979 

d. Rural Landless Employment Guarantee Programme (RLEGP) 4. 1976 
A B C D 

 a.  4 3 2 1 
 b.  2 4 1 3 
 c.  1 3 4 2 
 d.  3 4 1 2 
 e.  Answer not known 
rhpahd tpilia Njh;e;njLj;J nghUj;Jf  
A. xUq;fpize;j Cuf tsh;r;rpj; jpl;lk; (IRDP)   1. 1983 
B. Cuf ,isQh;fSf;fhd Ra Ntiytha;g;G gapw;rp (TRYSEM) 2. 1980 
C. Njrpa Cuf Ntiy tha;g;Gj; jpl;lk; (NREP)   3. 1979 
D. Cuf epykw;Nwhh; Ntiy tha;g;G cWjpj;jpl;lk; (RLEGP)  4. 1976 

A B C D 
 a.  4 3 2 1 
 b.  2 4 1 3 
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 c.  1 3 4 2 
 d.  3 4 1 2 
 e. tpil njhpatpy;iy 

 
73. The National calendar of India is  

a. Gregorian calendar   b. Vikram Savanth calendar 

c. Hindu calendar    d. Saka Calendar  
e. Answer not known 
,e;jpahtpd; Njrpa ehl;fhl;b _____________ MFk;. 
a. fphpNfhpad; ehl;fhl;b  b. tpf;uk; rhte;j; ehl;fhl;b 
c. `pe;J ehl;fhl;b   d. rftUl ehl;fhl;b 
e. tpil njhpatpy;iy 

 
74. World green city Award 2022 was received by  

a. Bangalore    b. Cochin   c. Hyderabad  

d. Kodaikkanal   e. Answer not known 
cyf gRik efuk; tpUJ 2022 ngw;wJ 
a. gq;fSU   b. nfhr;rpd;   c. i`juhghj; 
d. nfhilf;fhdy;  e. tpil njhpatpy;iy 

 
75. Choose the correct pairs: 

Jaynagar – Kurtha railway line were signed between which two sides  
I. India – China   

II. India – Srilanka  
III. India – Nepal 
a. I only  b. II only  c. III only  d. I and II  e. Answer not known 
rhpahd gjpiy Njh;T nra;aTk;: 
n[a;efh; - Fh;jh uapy; ghij ve;j ,U ehLfSf;F ,ilNa ifnaOj;jhdJ 
I. ,e;jpah - rPdh 
II. ,e;jpah - ,yq;if 
III. ,e;jpah – Neghs; 
a. I kl;Lk;   c. II kl;Lk;   c. III kw;Wk; 
d. I kw;Wk; II  e. tpil njhpatpy;iy 

 
76. Which of the following statements are correct about Eastern coastal plain? 

i. It lies between Eastern Ghats and the Arabian Sea. 
ii. The Coastal plain between Mahanadi and Krishan rivers is known as the Northern 
Circars. 
iii. The coastal plain lies between Krishna and Kaveri rivers is called Coromandal coast. 
a. (i), (ii) and (iii) only  b. (i) and (ii) only  c. (ii) and (iii) only 

d. (i) and (iii) only   e. Answer not known 
fpof;F flw;fiu rkntsp gw;wp gpd;tUk; thf;fpaq;fspy; vJ rhpahdJ? 
i. fpof;F flw;fiu rkntsp fpof;f njhlh;r;rp kiyf;Fk; mugpf; flYf;fk; ,ilNa 
mike;Js;sJ. 
ii. kfhejpf;fk; fpU~;zh ejpf;Fk; ,ilg;gl;lg; gFjp tlruf;fhh; vd miof;fg;gLfpwJ. 
iii. fpU~;zh kw;Wk; fhtphp Mw;wpw;F ,ilg;gl;l gFjp Nrhokz;ly flw;fiu vd 
miof;fg;gLfpwJ. 
a. i> ii kw;Wk; iii kl;Lk;  b. i kw;Wk; ii kl;Lk;  c. ii kw;Wk; iii kl;Lk; 
d. i kw;Wk; iii kl;Lk;  e. tpil njhpatpy;iy 
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77. Which of the following is correctly paired? 

Biosphere Reserves   State 

a. Manas   -  Gujarat 
b. Simlipal   -  Odisha 
c. Sundarbans  -  Assam 

d. Kachch   -  West Bengal  
e. Answer not known 
fPo;f;fz;ltw;wpy; rhpahf nghUe;jp cs;sJ vJ? 
caph;Nfhs fhg;gfq;fs;   khepyk; 
a. khdh];   - F[uhj; 
b. rpk;ypghy;   - xbrh 
c. Re;jutdk;   - mrhk; 
d. fl;r   - Nkw;Ftq;fk;  
e. tpil njhpatpy;iy 

 
78. Sardar Sarover project is built across ______ river. 

a. Krishna   b. Narmada   c. Mahanadi 
d. Sutlej   e. Answer not known 
ve;j Mw;wpd; FWf;Nf rh;jhh; rNuhth; jpl;lk; mike;Js;sJ? 
a. fpU~;zh   b. eh;kjh   c. kfhejp 
d. rl;y[;   e. tpil njhpatpy;iy 

 
79. A copper statute of the Buddha about __________ feet hight at Nalanda in Bihar. 

a. 16 feet    b. 23 feet    c. 50 feet   
d. 18 feet    e. Answer not known 
gPfhhpd; ehse;jhtpy; cs;s Gj;jhpd; nrk;Gy; rpiy __________ mb cs;sJ. 
a. gjpdhW   b. ,Ugj;J %d;W  c. Ik;gJ 
d. gjpndl;L   e. tpil njhpatpy;iy 

 
80. ‘Sur’ dynasty founded by  

a. Akbar    b. Sher Shah   c. Bahur  

d. Tej Bagadur   e. Answer not known 
‘#h;’ tk;rj;ij epWtpath; 
a. mf;gh;   b. n~h; ~h   c. ghgh; 
d. Nj[; gfJ}h;  e. tpil njhpatpy;iy 

 
81. In the Ashtapradhan of Shivaji Cabinet Chief Justice was called as  

a. Nyayadhish   b. Panditrao   c. Sumant  
d. Pant Pradhan   e. Answer not known 
rpth[papd; m~;lg;gpujhdj;jpy; jiyik ePjpgjp vd miof;fg;gl;lth;  
a. epahajp];   b. gz;bl;uht;   c. Rke;j; 
d. ge;j;jpujhd;  e. tpil njhpatpy;iy 

 
82. The Court of Akbar and was popularly known as the blind bard of Agra is  

a. Tuka Ram   b. Mirabai   c. Sur Das  
d. Ramananda   e. Answer not known 
mf;ghpd; mitapy; ,lk; ngw;wpUe;J _________ Mf;uhtpd; ghh;itj; jpwdw;w ghlfd; 
vdg; gyuhYk; mwpag;gl;lth;. 
a. Jf;fhuhk;   b. kPuhgha;   c. #h;jh]; 
d. ,uhkhde;jh;  e. tpil njhpatpy;iy 
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83. From the following, find out the wrong pair: 

a. Babur Nama  -  Auto biography 
b. Konark    -  Siva Temple 
c. Qutb Minar   -  Victory power  
d. Muhammed Iqbal  -  Urdu poet 
e. Answer not known 
gpd;tUtdtw;Ws; jtwhd ,iziaj; njhpT nra;f 
a. ghgh; ehkh  - Rarhpij 
b. Nfhdhh;f;   - rptd; Nfhapy; 
c. FJg;kpdhh;  - ntw;wp NfhGuk; 
d. KfkJ ,f;ghy;  - cUJf; ftpQh; 
e. tpil njhpatpy;iy 

 
84. Assertion [A]: The Legislative Assembly is the real centre of power in the state. 

Reason [R]: It makes the important appointments of the Heads of Departments. 
Choose the correct option from the following codes: 
a. [A] is true but [R] is false 
b. Both [A] and [R] are true, and [R] is the correct explanation of [A]  
c. [A] is false [R] is true 

d. Both [A] and [R] are true, but [R] in not the correct explanation of [A] is correct. 
$w;W  : khepy rl;lkd;wk; khepy mjpfhuj;jpd; cz;ikahd mjpfhu ikakhFk;. 
fhuzk; : Kf;fpakhd Jiwj; jiyth;fspd; epakdq;fisr; nra;fpwJ. 
fPo;fhz;gitapypUe;J rhpahd tpilia Njh;e;njLf;fTk;: 
a. $w;W rhp Mdhy; fhuzk; jtW 
b. $w;W kw;Wk; fhuzk; rhp NkYk; fhuzk; $w;Wf;fhd rhpahd tpsf;fkhFk; 
c. $w;W jtW Mdhy; fhuzk; rhp 
d. $w;W kw;Wk; fhuzk; rhp NkYk; fhuzk; $w;Wf;fhd rhpahd tpsf;fky;y 
e. Answer not known 

 
85. Dispute between two states of India come to the Supreme Court under: 

a. Judicial review    b. Original jurisdiction  
c. Advisory jurisdiction   d. Appellate jurisdiction 

e. Answer not known 
fPo;f;fz;l ve;j mjpfhu tuk;gpd; %yk; ,U khepyq;fSf;fpilNaahd gpur;ridfis 
cr;r ePjpkd;wk; jPh;f;f tif nra;fpwJ? 
a. ePjp kW Ma;T    b. Kjd;ik mjpfhu tuk;G   
c. MNyhrid mjpfhu tuk;G  d. Nky; KiwaPl;L mjpfhu tuk;G 
e. tpil njhpatpy;iy 

 
86. Which State implemented women ancestral Property Act in 1989? 

a. Andhra   b. Kerala   c. Tamil Nadu 

d. Goa   e. Answer not known 
ngz;fSf;fhd %jhijah; nrhj;Jhpik rl;lj;ij 1989-,y; eilKiwg;gLj;jpa khepyk; 
vJ? 
a. Me;jpuh   b. Nfush   c. jkpo;ehL 
d. Nfhth   e. tpil njhpatpy;iy 

 
87. If the price of orid dhall after 20% increase is Rs. 96 per kg, then find the original price 

of orid dhall per kg? 
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a. Rs. 100   b. Rs. 80   c. Rs. 116   
d. Rs. 76   e. Answer not known 
20% tpiy cah;Tf;Fg;gpd; xU fpNyh cSj;jk;gUk;gpd; tpiy &.96 vdpy; xU fpNyh 
cSj;jk; gUg;gpd; mry; tpiyiaf; fhz;f. 
a. &. 100   b. &. 80   c. &. 116   
d. &. 76   e. tpil njhpatpy;iy 

 
88. The length, breadth and height of a room are 825 cm, 675 cm and 450 cm respectively. 

Find the longest tape which can measure he three dimensions of the room exactly? 

a. 44550 cms   b. 14850 cms   c. 75 cms  

d. 1350 cms    e. Answer not known 
xU miwapd; ePsk;> mfyk; kw;Wk; cauk; KiwNa 825 nr.kP 675 nr.kP kw;Wk; 450 
nr.kP MFk;. ,e;j miwapd; %d;W ghpkhzq;fis Jy;ypakhf msf;ff;$ba ehlhtpd; 
mjpfgl;r ePsk; vd;d? 
a. 44550 nr.kP  b. 14850 nr.kP  c. 75 nr.kP 
d. 1350 nr.kP  e. tpil njhpatpy;iy 

 
89. What is the smallest 5 digit number that is exactly divisible by 72 and 108? 

a. 10000 b. 10152 c. 10072 d. 10108 e. Answer not known 
72 kw;Wk; 108 My; rhpahf tFglf;$ba kpfr;rpwpa 5 ,yf;f vz; vd;d? 
a. 10000 b. 10152 c. 10072 d. 10108 e. tpil njhpatpy;iy 

 
90. 6 women or 8 men can construct a room in 86 days. Then the time taken for 7 women 

and 5 men to do the same type of room is  
a. 48 days    b. 84 days    c. 42 days   
d. 24 days   e. Answer not known 
6 ngz;fs; my;yJ 8 Mz;fs; Xh; miwia 86 ehs;fspy; fl;b Kbg;gh;. mJ Nghd;w 
miwia 7 ngz;fs; kw;Wk; 5 Mz;fs; fl;b Kbf;f MFk; ehl;fs; 
a. 48 ehl;fs;  b. 84 ehl;fs;   c. 42 ehl;fs; 
d. 24 ehl;fs;  e. tpil njhpatpy;iy 

 
91. A certain sum of money amount to Rs. 8,880 in 6 years and Rs. 7, 920 in 4 years 

respectively. Find the principal and rate percent? 

a. Rs. 8, 500, 12%  b. Rs. 7, 000, 6%  c. Rs. 7, 500, 8% 

d. Rs. 6,000, 8%  e. Answer not known 
xU Fwpg;gpl;l mryhdJ 6 Mz;Lfspy; &.8>880 MfTk; 4 Mz;Lfspy; &.7>920 MfTk; 
khWfpwJ vdpy; mry; kw;Wk; tl;b tPjk; fhz;f. 
a. &. 8, 500, 12%  b. &.7, 000, 6%  c. &. 7, 500, 8% 

d. &.6,000, 8%  e. tpil njhpatpy;iy 
 

92. In what time will Rs.13, 000 amount to Rs. 15,080 at 8% simple interest per annum? 

a. 2 years  b. 3 years  c. 4 years  d. 5 years  e. Answer not known 
Mz;Lf;F 8% jdptl;b tPjj;jpy; xU njhif &.13>000 vj;jid Mz;Lfspy; &.15>080 
Mf caUk;? 
a. 2 tUlq;fs;  b. 3 tUlq;fs;   c. 4 tUlq;fs; 
d. 5 tUlq;fs;  e. tpil njhpatpy;iy 

 
93. The area of a rhombus whose diagonals are 10 cm and 12 cm is  

a. 30 cm2   b. 60 cm2    c. 120 cm2  
d. 240 cm2   e. Answer not known 
%iy tpl;lq;fs; 10 nr.kP.> 12 nr.kP nfhz;l xU rha;rJuj;jpd; gug;G fhz;. 
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a. 30 nr.kP 2   b. 60 nr.kP 2    c. 120 nr.kP 2   
d. 240 nr.kP 2   e. tpil njhpatpy;iy 

 
94. Two identical cubes of side 7 cm are joined end to end. Find the Total surface area of 

the new resulting cuboid. 
a. 294 cm2 b. 360 cm2 c. 490 cm2 d. 560 cm2 e. Answer not known 
7 nr.kP gf;f msTs;s xNu khjphpahd ,uz;L fdr;rJuq;fs; xd;Wld; xd;W 
gf;fthl;by; ,izf;fg;gLk;NghJ fpilf;Fk; Gjpa fdr;nrt;tfj;jpd; nkhj;jg;gug;G 
fhz;f. 
a. 294 nr.kP 2   b. 360 nr.kP 2   c. 490 nr.kP 2  
d. 560 nr.kP 2    e. tpil njhpatpy;iy 

 
95. The value of 152 + 162 + 172 +….282 is  

a. 6600 b. 6699 c. 77000 d. 77114 e. Answer not known 
152 + 162 + 172 +….282 -d; kjpg;G 
a. 6600 b. 6699 c. 77000 d. 77114 e. tpil njhpatpy;iy 

 
96. A person saved money every year, half as much as he could in the previous year. If he 

had totally saved Rs. 7,875 in 6 years then how much did he save in the first year? 

a. Rs. 3,000   b. Rs. 4, 000   c. Rs. 5, 000   
d. Rs. 6, 000   e. Answer not known 
xU egh; xt;Nthh; Mz;Lk; mjw;F Ke;ija Mz;L Nrkpj;j njhifapy; ghjpiar; 
Nrkpf;fpwhh;. 6 Mz;Lfspy; mth; &. 7>875 Ir; Nrkpf;fpwhh; vdpy;> Kjy; Mz;by; mth; 
Nrkpj;j njhif vt;tsT? 
a. &. 3,000   b. &. 4, 000   c. &. 5, 000   
d. &. 6, 000   e. tpil njhpatpy;iy 

 
97. Find the value of x, 3 : 27 :: 4 : x 

a. 36  b. 64  c. 16  d. 8  e. Answer not known 
3 : 27 :: 4 : x vdpy; x-d; kjpg;ig fhz;f. 
a. 36  b. 64  c. 16  d. 8  e. tpil njhpatpy;iy 

 
98. Two Dice has the numbers 1, 2, 2, 2, 2, 2, on its sides. Two dice are thrown, what is 

probability to get different numbers? 

a. 
30

36
  b. 

10

36
  c. 

5

36
  d. 

25

36
  e. Answer not known 

vd;w vz;fSila ,U gfilfs; Rz;lg;gLk; NghJ ntt;NtW vz;fs; fpilf;f 
epfo;jfT vd;d? 

a. 
30

36
  b. 

10

36
  c. 

5

36
  d. 

25

36
  e. tpil njhpatpy;iy  

 
99. Kannan on seeing a boy said, that, he is the son of his father’s only son, Who is Kannan 

to that boy? 

a. Son    b. Grand Son   c. Grand Father   

d. Father    e. Answer not known 
xU igaidg; ghh;j;J fz;zd;> ,td; vd; je;ijapd; xNu kfdpd; kfd; vd;W 
$wpdhh; vdpy; fz;zd; me;jg; igaDf;F vd;d Ntz;Lk;? 
a. kfd;   b. Ngud;   c. ghl;ld; 
d. je;ij   e. tpil njhpatpy;iy 

 
100. If x : y = 3 : 4 then (4x + 5y):(5x – 2y) = ? 
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a. 32 : 7 b. 36 : 5 c. 34 : 7 d. 35 : 8 e. Answer not known 
x : y = 3 : 4  vdpy; (4x + 5y):(5x – 2y) -d; kjpg;G 
a. 32 : 7  b. 36 : 5 c. 34 : 7 d. 35 : 8 e. tpil njhpatpy;iy 


